Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Thermal Engineering-I
Subject Code: 2TEO4THE1 Branch: Diploma (Mechanical)

Semester: 4 Date : 05/05/2018 Time: 10:30 To 01:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams & figures (if necessary) at right places.
(4) Assume suitable & perfect data if needed.
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Attempt the following questions

A machine used to raise the pressure of the air is called.
1) Gasturbine  2) 1.C.Engine  3) compressor  4) air motor

The number of water level indicator in a boiler is generally........... in number.
1) One 2) two 3) three 4) four

The capacity of compressor is expressed in

1) Kg/m? 2) kg/m® 3) m¥min  4) kg/m
The emissivity for a black body is
1) 0 2)0.5 3)0.75 4)1
Which of the following is not boiler mounting?
1) Blow off cock 3) Economizer
2) Feed check valve 4) fusible plug
The ratio of the discharge pressure to the inlet pressure of air is called
1) Compression ratio 3) compressor efficiency
2) Expansion ratio 4) volumetric efficiency
The unit of thermal conductivity in S.1 units is
1) J/m 2) W/mK 3) JIm’K 4) all of these
The length of cornish boiler is of the order of
1) 2-4m 2)3-5m 3)5-7.5m 4)7-9m
What is the dryness fraction of Dry & saturated steam?
1) 1 2) 0.5 3)1.01 4) 2

A condenser where circulating water flows through tubes which are surrounded
by steam, is known as

1) Surface condenser 3) barometric condenser

2) Jet condenser 4) none of these
Unit of pressure is

1) N 2) N/m? 3) N.m 4) none of these
The water tubes in simple vertical boiler are

1) Horizontal 2) vertical 3) inclined
Thermal efficiency of well maintained boiler will be of the order
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1) 30% 2) 55 % 3) 90 % 4) 45 %
Lancashire boiler is a

1) Stationary fire tube boiler 3) Horizontal boiler

2) Internally fire tube 4) all of these

Attempt any four questions from Q-2 to Q-8
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Write differences between fire tube boiler and water tube boiler.
Explain construction and working of babcock & Wilcox boiler with figure.
Explain counter flow jet condenser with figure.
Compare between jet condenser and surface condenser .
Give classification of condenser.
Define following term
1) Compressor ratio 4) clearance volume
2) Swept volume 5) Volumetric efficiency
3) Capacity of compressor

Explain construction and working of reciprocating air compressor with figure.

Write application of compressed air.
Explain construction and working of water level indicator with figure.
Compare between reciprocating and rotary compressor.
Write purpose of cooling tower.
Explain steam formation process at constant pressure.
Explain throttling process.
Define following terms
1) Wetsteam 2) dryness fraction  3) degree of superheat
4) sensible heat
List the mode of heat transfer and give example of each.
Write differences between free convection and force convection.
Define following
1) Absorptivity 3) Emissivity
2) Black body 4) Reflectivity
Write differences between impulse and reaction turbine.
Explain velocity — pressure compounding method.
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